



①

Name : Fayaz Ullah

ID : 13854

Subject : Linear Algebra

Mid Term

Question 1

Part (a)

$$A = \begin{bmatrix} 1 & -2 & 3 \\ 4 & 2 & 1 \\ 0 & 1 & -2 \end{bmatrix}, \quad B = \begin{bmatrix} 1 & 4 \\ 3 & -1 \\ -2 & 2 \end{bmatrix}$$

Sol:       $A \cdot B$

so,

row<sub>3</sub> (A) · col<sub>2</sub> (B)

$$= \begin{bmatrix} 0 & 1 & -2 \end{bmatrix} \cdot \begin{bmatrix} 4 \\ -1 \\ 2 \end{bmatrix}$$

$$= (0)(4) + (1)(-1) + (-2)(2)$$

$$= 0 - 1 - 4$$

$$\boxed{= -5}$$

## Part (b)

2

Interpolate the points

$$(1, 3), (2, 4), (3, 4)$$

Sol:

As

$$a_2 u_1^2 + a_1 u_1 + a_0 = y_1$$

$$a_2 u_2^2 + a_1 u_2 + a_0 = y_2$$

$$a_2 u_3^2 + a_1 u_3 + a_0 = y_3$$

Now,

$$(u_1, y_1) = (1, 3), (u_2, y_2) = (2, 4)$$

$$(u_3, y_3) = (3, 4)$$

put these values in above

$$a_2 (1)^2 + a_1 (1) + a_0 = 3$$

$$a_2 (2)^2 + a_1 (2) + a_0 = 4$$

$$a_2 (3)^2 + a_1 (3) + a_0 = 4$$

③

$$a_2 + a_1 + a_0 = 3$$

$$4a_2 + 2a_1 + a_0 = 4$$

$$9a_2 + 3a_1 + a_0 = 4$$

$$A_b = \begin{bmatrix} 1 & 1 & 1 & : & 3 \\ 4 & 2 & 1 & : & 4 \\ 9 & 3 & 1 & : & 4 \end{bmatrix}$$

$$\sim \begin{bmatrix} 1 & 1 & 1 & : & 3 \\ 0 & -2 & -3 & : & -8 \\ 0 & -6 & -8 & : & -23 \end{bmatrix} \begin{array}{l} R_2 - 4R_1 \\ R_3 - 9R_1 \end{array}$$

$$\sim \begin{bmatrix} 1 & 1 & 1 & : & 3 \\ 0 & -2 & -3 & : & -8 \\ 0 & 0 & 1 & : & 1 \end{bmatrix} R_3 - 3R_2$$

So,

$$a_2 + a_1 + a_0 = 3 \quad \text{--- (1)}$$

$$-2a_1 - 3a_0 = -8 \quad \text{--- (2)}$$

~~$a_2 + a_1 + a_0 = 3$~~  (3)

$$a_0 = 1$$

--- Put in (2)

④

$$-2a_1 - 3(1) = -8$$

$$-2a_1 - 3 = -8$$

$$-2a_1 = -8 + 3$$

$$a_1 = \frac{-5}{-2}$$

$$\boxed{a_1 = \frac{5}{2}} \quad \text{— put in } \textcircled{1}$$

$$a_2 + \frac{5}{2} + 1 = 3$$

$$a_2 + \frac{5+2}{2} = 3$$

$$a_2 + \frac{7}{2} = 3$$

$$a_2 = 3 - \frac{7}{2}$$

$$a_2 = \frac{6-7}{2}$$

$$\boxed{a_2 = \frac{-1}{2}}$$

Question 2

5

Part (a)

Sol

$$|A| = 2, \quad |B| = -3$$

So,

$$|A^{-1} B^t| = |A^{-1}| \cdot |B^t|$$

$$\Rightarrow |A^{-1}| = \frac{1}{|A|} \cdot |B|$$

$$|B^t| = |B|$$

$$|A^{-1} B^t| = \frac{1}{|A|} |B|$$

$$= \frac{1}{2} \cdot 3$$

$$|A^{-1} B^t| = \frac{3}{2}$$

# Question 2(b)

6

$$x + y + 2z = 1$$

$$x - 2y + z = -5$$

$$3x + y + z = 3$$

Sol:

$$\begin{bmatrix} 1 & 1 & 2 \\ 1 & -2 & 1 \\ 3 & 1 & 1 \end{bmatrix} \sim \begin{bmatrix} 1 & 1 & 2 \\ -5 & -1 & -1 \\ 3 & 0 & -1 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & 2 & | & 1 \\ 1 & -2 & 1 & | & -5 \\ 3 & 1 & 1 & | & 3 \end{bmatrix}$$

$$\xrightarrow{2R} \begin{bmatrix} 1 & 1 & 2 & | & 1 \\ 0 & 0 & -1 & | & 6 \\ 0 & -1 & -5 & | & -12 \end{bmatrix} \begin{array}{l} R_1 - R_2 \\ 3R_2 - R_3 \end{array}$$

$$\xrightarrow{2R} \begin{bmatrix} 1 & 1 & 2 & | & 1 \\ 0 & 0 & -1 & | & 6 \\ 0 & -1 & -5 & | & -12 \end{bmatrix} \begin{array}{l} 7R_2 + 3R_3 \end{array}$$

$$\mathbb{R} \left[ \begin{array}{ccc|c} 1 & 1 & 2 & 1 \\ 0 & 1 & 1 & 2 \\ 0 & 0 & 1 & 6 \end{array} \right] \frac{1}{3} R_2$$

$$x + y + 2z = 1 \quad \text{--- (1)}$$

$$y + z = 2 \quad \text{--- (2)}$$

$$\boxed{z = 6}$$

put in (2)

$$y + 6 = 2$$

$$y = 2 - 6$$

$$\boxed{y = -4}$$

put in (1)

$$x + (-4) + 2(6) = 1$$

~~$$x + (-4) + 12 = 1$$~~

$$x - 4 + 12 = 1$$

$$x = 1 + 5 - 12$$

$$\boxed{x = -6}$$



## Question 3

8

Find  $A^{-1}$

$$A = \begin{bmatrix} 3 & -2 & 1 \\ -5 & 6 & 2 \\ -1 & 0 & -3 \end{bmatrix}$$

Sol:

$$|A| = \begin{vmatrix} 3 & -2 & 1 \\ -5 & 6 & 2 \\ -1 & 0 & -3 \end{vmatrix}$$

$$= 3 \begin{vmatrix} 6 & 2 \\ 0 & -3 \end{vmatrix} + 2 \begin{vmatrix} -5 & 2 \\ -1 & -3 \end{vmatrix} + 1 \begin{vmatrix} -5 & 6 \\ -1 & 0 \end{vmatrix}$$

$$= 3(-18) + 2(-15 - 2) + 1(0 - 6)$$

$$= 3(-18) + 2(-17) + 1(-6)$$

$$= -54 - 34 - 6$$

$$= -94$$

$$|A| = -94$$

Now, cofactor of A

9

$$A_{11} = (-1)^{1+1} \begin{vmatrix} 6 & 2 \\ 0 & -3 \end{vmatrix} = -18$$

$$A_{12} = (-1)^{1+2} \begin{vmatrix} 5 & 2 \\ 1 & -3 \end{vmatrix} = 17$$

$$A_{13} = (-1)^{1+3} \begin{vmatrix} 5 & 6 \\ 1 & 0 \end{vmatrix} = -6$$

$$A_{21} = (-1)^{2+1} \begin{vmatrix} -2 & 1 \\ 0 & -3 \end{vmatrix} = -6$$

$$A_{22} = (-1)^{2+2} \begin{vmatrix} 3 & 1 \\ 1 & -3 \end{vmatrix} = -10$$

$$A_{23} = (-1)^{2+3} \begin{vmatrix} 3 & 2 \\ 1 & 0 \end{vmatrix} = -2$$

$$A_{31} = (-1)^{3+1} \begin{vmatrix} -2 & 1 \\ 6 & 2 \end{vmatrix} = -10$$

$$A_{32} = (-1)^{3+2} \begin{vmatrix} 3 & 1 \\ 5 & 2 \end{vmatrix} = 1$$

$$A_{33} = (-1)^{3+3} \begin{vmatrix} 3 & 2 \\ 5 & 6 \end{vmatrix} = 28$$

$$\text{adj } A = \begin{bmatrix} A_{11} & A_{12} & A_{13} \\ A_{21} & A_{22} & A_{23} \\ A_{31} & A_{32} & A_{33} \end{bmatrix}^t$$

(10)

$$\text{adj } A = \begin{bmatrix} -18 & 17 & -6 \\ -6 & -10 & -2 \\ -10 & -1 & 28 \end{bmatrix}^t$$

$$\text{adj } A = \begin{bmatrix} -18 & -6 & -10 \\ 17 & -10 & -1 \\ -6 & -2 & 28 \end{bmatrix}$$

$$A^{-1} = \frac{1}{|A|} \text{adj } A$$

$$A^{-1} = \frac{1}{-94} \begin{bmatrix} 18 & 6 & 10 \\ -17 & 10 & 1 \\ 6 & 2 & -28 \end{bmatrix}$$